4.5

, d [eosx 42 cosx d sinx cos? x
1. F' () = — dt =  —(COSX) = —— —— —
x 1 :

r+1 cos+1 dx cosx + 1
- 1/2
d I sint? d [*' sint? siny 4 ; sinx
12. G"[x::—f df = —— dt = ——— ,_(1.1,2):_
ax |~ dx Js5 t VX oodx 2x

2
16. fﬂz (2—4u+uz)du:Eu—luz—l-%u?"ﬂ:(4_8+§)_O:_§

3 3 = / 3. -
X dx X x+1—-—+5x+1 Xlva+1—-—+5x+1
4?./ =/ , : VATl vt d.r:f (v i ) dx
0 vx+14+5x+1 0 vai+1l4+VSx+1va+1—-—+5x+1 0o ((x+1)—(5x+41)

= —-é— fg’ VX 4 ldx + -i— f,j% Vi3x 4+ 1dx

To evaluate f Vi+ldx. letu =x+1l.sodu =dx.x =0=u=1.andx = 3 = u = 4. Then

— , R
_% fd; VX +1ldx = —'31: ff‘r ul/? du = —% (%u?'*'z)!l = —% (8—1) = —%. To evaluate the other

integral. letu = Sx 4+ 1. so0du = 5dx = dx = %du. ¥xr=0=wu=1.andx =3 =u = 16.

6 4 21
| = g5 (64 —1) = 5. We conclude that

Thus. %f{)?’ Vix +1ldx = —_3,15 fllﬁulf'iz du = 2% (%MB;'E)

f3 x dx T +21 14
0 Vx+1l+5x+1 6 10 15

- ~

88, 2 Jo V3 F 2costdt + [ sintdt d (0)=0 f’%+—dx + si 0= I sy
- L Cos 51N = - = U= 3 2C08 X — smy=0—= — —= —
dy [ 0 0 ] dy A dy ! dy

3+ 2cosx



5. 1

13. Solvex? —4x +3=—x2+2x+3e=2x2 —6x =2x (x —3) = 0.

giving (0, 3) and (3, 0) as the points of intersection. Thus,

a=J5|(=x?+2x+3) - (x> —4x +3) |ax

3
:fé’ (—.’zx2 +6x) dx = —%x3 +3x2‘ =9
0

17. Solve ,./f —ler=1tex (x3 — 1) = 0, giving (0, 0) and (1, 1) as

the points of intersection. Thus,
1

1 2 1 1
4= (ﬁ—xz)dx = §x3f2—§x3‘0 = 5.

23, Solvex2 +5=—x24+6xr+5<2x2 —6x =0 2x (x — 3) =0, giving

(0, 5) and (3, 14) as the points of intersection. Thus,
A= fg [(—xz + 6x + 5) — (xz - 5)] dx = fg (—2x2 +6x) dx

3
= —%x3 +3x2‘ =9
0

32. A= f:ﬁz [(%x + 1) — sinx]dx

=2 Uﬂﬁldx:?r

2

because f (x) = £x — sinx is odd.

35, 4 =2 Oﬂ’u' (2 — sec? x) dx = 2(2x —t.’:m.ﬂ:)lgr’“jr =m7-2
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